
SR. NO QUESTION TEXT OPTION 1 OPTION 2 OPTION 3 OPTION 4

1
 The____________  the means changing the structure of an 

organisation such as reducing the hierarchical levels

Financial 

restructuring

organisational 

restructuring

 corporate 

restructuring

 operational 

restructuring

2

_________ is an agreement where by the assets  of 

two or more companies come under the control of one 

company
Merger  Buyout Joint venture Demerger

3
__________ merger  involves firms engaged in  unrelated 

types of activities.
Vertical  Horizontal Conglomerate  Demerger

4
____________ restructuring is related the restructuring of 

the financial aspect of the firm
Marketing Financial Organisational Operational

5
____________ are special compensation agreement that the 

company provides to upper management
pacman Poison Pill 

Golden 

'Parachute'
White knight

6

_________ refers to payment of a substantial premium for 

significant shareholders stock in return for stockholders 

agreement that he or she will not initiate a bid for control of 

the company

Greenmail Poison Pill 
Golden 

'Parachute'
White knight

7
_________ defence occurs when the target make counter 

offer for the bidder.
pacman Poison Pill 

Golden 

'Parachute'
White knight

8
___________  is to enhance customer base, higher sales,  

increase revenue,Money material, machinery etc.
 Organised  Unorganised Systematic  Unstructured

9
 ____________ growth provides an organisation with an aim 

of achieving accelerated or increased growth through 

mergers,  amalgamation etc.

 Organised  Unorganised Systematic  Unstructured

10
A _________ merger is a measure of business form engage 

in different stages of production in an industry
Horizontal  Vertical Conglomerate  Unstructured

11
 The __________ Of the most company determines its 

success or failure Earning Net Profit Capitalisation
sales

12 Management involves the _________  of resources  Utilisation  Analysis reduction wastage


